Statische Investitionsrechnung
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Fallbeispiel BMW Motoren GmbH 

	
	
	Fertigungsanlage

Siemens 

FS 3821/4
	Fertigungsanlage

MCE 

ZT 2654/5

	Anschaffungskosten
	€
	85.000
	90.000

	Restwert
	€
	5.000
	6.000

	Nutzungsdauer
	Jahre
	8
	8

	Auslastung
	Stück/Jahr
	8.000
	8.000

	Zinssatz
	% 
	12
	12

	
	
	
	

	Abschreibungen 1)
	€/Jahr
	10.000
	10.500

	Zinsen 2)
	€/Jahr
	5.400
	5.760

	Gehälter
	€/Jahr
	52.000
	58.000

	Sonst. fixe Kosten
	€/Jahr
	14.000
	15.000

	Fixe Kosten
	
	81.400
	89.260

	
	
	
	

	Löhne 3)
	€/Jahr
	109.000
	98.000

	Materialkosten
	€/Jahr
	98.000
	97.000

	Sonst. var. Kosten
	€/Jahr
	9.000
	9.000

	Variable Kosten
	
	216.000
	204.000

	
	
	
	

	
	
	
	

	Gesamte Kosten
	
	297.400
	293.260

	
	
	
	

	Kostendifferenz
	
	4.140


1) Abschreibungen:

 AW-RW = 85.000 – 5.000 = 10.000
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2) Zinsen:


AW + RW * p % = 85.000 + 5.000 * 12 % = 5.400

   (vom Ø geb. Kapital)
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3) Löhne: 


136.250 * 8.000 = 109.000
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